[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

0 12 14 16 18 20
track x?

2 3 2 L F 2
[*] r [3} L 5] 5]
g . g g g
=10 ° = s
2 f s g 10
F L g
10*F 10*F 3
E E 102
10°F 10°F
10°F 10°F
E 10g
o F I S ) T )
kS 3 TR 1T B : | T
& L . 11 i @ s i 3
¥ i i%
0 : R AT R S 1_.-,?.-,.151:*3*}
s 1o 13 14 16 1620 0 12 14 16 18 20 02468101214161820
track x? track x? track x?
77 |_|
up%ated-lﬂ berset
%] F 2] F 0 N N o o N
% -y % I 5 :-\..-I-\..-l-\..l'\.r'|
g I I g
£ =0k 5
o o W <t
E g 8
=
=3
o
<} <}
I ©
@ @




	Contents
	Page 1


